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Introduction
In RAN4 #84 meeting, range 2 NR BS frequency error requirement has been discussed in [1,2] , but there are no consensus reached. In this contribution, we will further discuss this requirement in terms of its effect on neighbor cell searching. 
Discussion
The frequency error for BS defined in TS 36.104[3] is as following:
	Frequency error is the measure of the difference between the actual BS transmit frequency and the assigned frequency. The same source shall be used for RF frequency and data clock generation.









Assuming the assigned frequency for serving cell BS is  , frequency error of the BS is  PPM, so the actual operating frequency of this BS will be . Considering is the frequency offset of neighbour cell to serving cell, then the assigned frequency for neighbour cell BS is , and hence the actual operating frequency of neighbour cell BS will be . 

The frequency error for UE defined in TS 36.101[4] is as following:
	The UE modulated carrier frequency shall be accurate to within ±0.1 PPM observed over a period of one time slot (0.5 ms) compared to the carrier frequency received from the E-UTRA Node B.









[bookmark: OLE_LINK56][bookmark: OLE_LINK57]Keeping the above calculation in mind, the UE received carrier frequency from the serving cell BS is  .  Assuming the frequency error of UE is  PPM, the actual operating carrier frequency of UE will be .  Hence, when performing neighbour cell searching, the UE will adjust its operating frequency to .  There is a frequency offset  between adjusted operating neighbour cell frequency   and the operating frequency of the neighbour cell, which is expressed as in equation 1:

                                                     Equation 1
From equation1, we can find the maximum frequency offset is

                                              Equation 2





[bookmark: OLE_LINK58][bookmark: OLE_LINK59]For example, if, ,, (same frequency neighbour cell), the, which is equivalent to the Doppler effect caused by 220km/h mobility. So it is necessary to consider the effect of frequency error of BS on neighbour cell searching performance.
[bookmark: OLE_LINK60][bookmark: OLE_LINK61]Proposal: It is necessary to consider the effect of frequency error of BS on neighbour cell searching performance.

Conclusion
In this contribution, we have following proposal:

Proposal: It is necessary to consider the effect of frequency error of BS on neighbour cell searching performance.
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